Day 3 At #99 (eont)

w | Find the arithmetic means of

e,

_ 2 :
Two sides of a triangle measure 14 ft and 17 ft, r ,spect;iyely iThe Included angle is
72°, Approximately how long s the third side& the tria‘né e? -

A 18.4 ft
B 20.3 ft
C 25.1 ft
D' 30.7 ft

}h:ch of the following is/are frue for the given

t-of data: The followshg list shows. the number -
of. peoplgt(m mﬂﬁons) 13 the
’ United States whose only means
i “6;8’ 36,54, 25, 68, 5.2 ' o 1 7 of getting to worls-was wilking.
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; 'ei:Iualiion ,ls the basirﬁt hnear model. _
* for the data?

. A .y=T166x+128

' B y = —'0_.062 +, 1.6
' ) ‘ . = 0-,06 -4+ 10
Bnily has 5 blouses and 8 pair of slacks. Find . Gy
the number of possible outfits consisting of one , D y=T6:-0.06
blouae and one pair of slaclks.
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Which plecewise function Is graphed below?
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}What Is the middle term for the expansion of (x2 + 3)12?

A 729x1?
B 924x12
C 673,596x12
D 665,280x12

CAR SALES The mean stay of a car onta
ot before being sold is 21 days, with a standard deviation of 3 days. The .
- lengths of stay aré noimally distributed. What percent of the cars are sold
after having been on the lot between 18 and 24 days? -

A. 95% . B. 34% C. 68% - D. 6%
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